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BACHELOR'S DEGREE PROGRAMME 
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ELECTIVE COURSE : COMMERCE 

ECO-010 : ELEMENTS OF COSTING 

Time : 2 hours 	 Maximum Marks : 50 
(Weightage 70%) 

Note: Attempt any two questions from Section-A and 

any two questions from Section-B. 

SECTION - A 

1. Explain the various steps usually followed by firms 10 
in purchase of materials. 

2. (a) Distinguish between Cost Accounting and 5, 5 
Financial Accounting. 

(b) State the main objectives of cost accounting. 

3. Write a short notes on any two of the following : 5, 5 

(a) Cost sheet 

(b) Economic Order Quantity 

(c) Time keeping 

(d) Contract costing 

ECO-010 
	 1 	 P.T.O. 



SECTION - B 

4. (a) 

	

	Prepare the Process - 'A' and Process - 'B' 10, 5 
accounts from the following data : 
Particulars 	 Process 

A 
Material (Z) 30,000 3,000 
Labour (Z) 10,000 12,000 
Overheads (Z) 7,000 8,600 
Normal Loss 10% 4% 
Sale value of wastage 
per unit (Z) 1 2 

costing and process costing. 

5. The following is the record of receipts and issues 
of a certain material in the factory during a week. 
Jan. 

1. Opening Balance 50 tonnes @ 10 per ton 
1. Issued 	30 tonnes 
2. Received 	60 tonnes @ 10.20 per ton 
3. Issued 	25 tonnes. 

(Stock verification reveals a loss of 1 tonne.) 
4. Received back 	10 tonnes (previously issued 

from orders 	at 19.15 per ton.) 
5. Issued 	40 tonnes 
6. Received 	22 tonnes @ 10.30 per ton 
7. Issued 	36 tonnes 

Prepare Stores Ledger Account using LIFO 
method. 

There is no opening and closing stock. 20,000 
units of material were used in Process - A. 
The output from Process - A was 17,500 units 
and from Process - B was 17,000 units. 

(b) State five important differences between job 

15 
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6. 	(a) From the following figures prepare a 10, 5 
reconciliation statement of Cost and 
Financial Accounts. 

Profit as per Cost Accounts 	17,000 

Over absorption of administrative 2,000 

overheads in Cost Accounts 

Depreciation charged in Cost A/cs 2,400 

Depreciation charged in financial 1,600 

A/cs 

Income Tax paid not included in 	1,000 

Cost Accounts 

Bank interest income not included 1,000 

in Cost A/cs 

Work overheads under - recovered 4,000 

in Cost A/cs 

Piece Rate 20 per unit standard 

output 24 units per day of 8 hours 

output of 'A' - 21 units 

output of 'B' - 25 units 

compute wages of A and B under Merrick 
Differential Piece Rate System. 
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